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Jnsrmcrfan.r to Candidates: :

Attempt all ten questions from Pﬂﬁ‘ A, four questions out of seven questions
Jrom Part B and two questions out of five from Part C.

S-r:.he;rnmic diagrams must be shown wherever necessary. Any data you feel
missing may suitably be assumed and stated clearly. Units of guantities
used /calculated must be stated clearly.

Use of following Supporting material is permitted -during examination.
(Mentioned in form No. 205)

I. NIL ’ 2. NIL _

PART - A
(Answer should be given up to 25 words only) [10x2=20)

All questions are compulsory
Q.1 What is Turing Machine?
Q.2 Difference between DFA and NDFA.

Q.3 What is push down automata? 2 s

Q4 Differentiate NP-complete and NP-hard problem,

Q.5 What is parsing? 2

Q.6 What is finite antomate? ersahilkagya Nn.com

Q.7 What is mealy machine?

Q.8 What is deciding properties of CFL?
Q.9 What is ambiguity?

Q.10 What is pumping lemma?
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Q.]

Q.3

Q.4

Q.6

Explain he di
o ifference between :
deterministi
nistic

-oblem sojving questions [4xB=32]

f

and Non-deterministic pushdown
Automata,

State and explqi ;
plain Pumping lemma for regular sets. Prove that following expression is

regular or not regular using pumping lemma.

L={a"b™:n<m+3) ersahilkagyan.com

Design a turing machine that computes 2 Enmpl:mnt of the given string over the
L = (0, 1}. Also show the output of the machine for string "00000".

Elplai;I context free grammar. Also differentiate it from context sensitive grammar.
Explain traveling sales man problem.

Construct a Push Down Automata {PDA,}\ft;r language

L= {a" b"*™a™| n, m =0}

Design whether the strings abb, aba and abb abb are accepted by transition graph or not.



: vjl Marks) [3x5=15)
(@) Recursive and recursively eny

':_,lﬂ language.
1
(®)  Properties of context free grammar .
()  Variation of Turing machipe . erSElh“kaQ}'an*CGm
2 Differentiate between deterministic and Bon- deterministic finite automara. Convert the
following fon-deterministic transitjon System into deterministic system

Q.5 Explain Greibach and Chomsky Normal }nma




